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CEMENT AND FERTILISER TECHNOLOGY
l’ ART-I

e awa . L aer ) [arfirpam 3% : 30
Time allowed : %2 Hour] [Maximum Marks : 30

e . @)« e st & gd mhE a1 SE HE |
Note : All Questions are compulsory and each question is of 1 mark.
(i) 21 srran F are gl w6t ety 7 st s & A &
Only English version is valid in case of difference in both the languages.

1. affes IO SR HE &9 L1 1. Commercial fertilizers are available
IGAH € - in the following form :
(a) WS ‘ (a) Powder
b)) T (b) Granules
(c) @ (¢) Lumps
@ v (d) Flakes
2. wiphis e @ smiftE v A9 Hw 2. Ammonia synthesis gas is produced
Ieare fpar St ¢ - from natural gas by
(2) TR SHEFT (@ Thermal cracking
(b) W R (b) Steam reforming
(c) iy SiterdroT (c) Partial oxidation
@) m@ﬁw (d) Hydrogenation
3. FFH WANE T - 3.  The chemical formula of urea is
(@ NH,-CO-NH, (a) NH,-CO-NH,
(b) NH,-CO-CH, () NH,-CO-CH,
() NH:-CO,-NH () NH-CO,-NH
(d) NH;-CO,-NH, (@ NH,-CO,-NH,

1) P.T.O.
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4. JWfEE AERE (T IAEF) H G TR
g aiftre =4t frar s & 9

(a) TR H A 9@ & T

(b) SERA P | HAfd & o

(c) Taopiz ¥ ifey @ s F

(d) I& F w0 § Afafaa dwad
Stg & fere

% SO W WERRE e &
sifafsrar g fr & S gl € -
(a) YR BERE

(b) U G HrEhe

(c) S WEhE

(d) oE mifEe vk

o 3 & €Y § W TE e & [iH
(1) TEHRN, AN FIFAE |

(b) TIEITEWEL |

(c) 3% fosHa U IS &t SRR |
(@) TEITHTEL |

g R § N ammH § s

SR W W -

(a) SRS N TSN E |

(b) ST T HH EAL |

(c) ITATE |

(@ ;ﬁ@zaﬁwﬁ%maﬁm
|

ke Ud H 1 | @ Fpad atfufe
TR W YRR U & &

(a) TR A

(b) uEiew A

(c) UMY FRES

(@ T QHE T

fifert =Rt o 9 food SR F
TR o aRl SR € 2

(a) 3mm

(b I g wERe

(©) YR GRS

@ g
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Why ammonium nitrate (a fertilizer)
is coated with limestone powder ?

(a) Increase its nitrogen content
(b) Cutdown it’s production cost
(¢) Avoid risk of explosion

(d) Add extra nutrient as fertiliser

Action of phosphoric acid on rock
phosphate produces

(a) Super phosphate

(b) Triple super phosphate

(c) Nitro phosphate

(d) Diammonium phosphate

Liquid ammonia is not used as such a
fertiliser in tropical countries like
India, because

(a) [It’s N, content is very low.

(b) Itis very costly.
(c) It will evaporate on spraying.
(d) Itis not available.

Lower temperature and large excess
of ammonia in urea melt

(a) increases biuret formation

(b) decreases biuret formation

(c) is undesirable

(d) does not effect biuret formation

Superphosphate is manufactured by
the reacting phosphate rock with

(a) Sulphuric acid

(b) Acetic acid

(¢) Aluminium chloride

(d) None of these

Prilling tower is found in the flow
sheet for the manufacture of

(a) Ammonia

(b) Triple super phosphate
(c) Super phosphate

(d) Urea
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10.

11.

12.

13.

14.

aifEn FRERE w0 Feieisr (@i
TR & o) et afufspan & -

(a) PRI

(b) A

(c) e

(d) o

ST gohe s ¥ o fm @
Ffitfirar frae S0 STt € 2

(a) @

(b) It FEEe @
() TriEw T d
@ T IRE T

AT I B SATLIHAN Bl &

(2 fawm & mifw oo § @ 9
ofqgl & gfg 9

(b) T & sifem = ¥ v & A
# &<t & ol

© AR G & Y& & wE w
FH A & ol

@ A HE T

st TS P YR H I E -
(a) T IHE

(b) WIEHIF IS

(©) AfeA IH

(@ Tufm 5w

A T 9T v F 4 e St
T

(a) ATz TeR ¥

(b) AT ZEw TR &

(¢ U= o v T ¥

@ 7|

&)

10.

11.

12.

13.

14.
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Dehydration of ammonium carbonate
(to produce urea) is following
reaction :

(a) Reversible
(b) Catalytic

(¢) Exothermic
(d) Endothermic

Ammonium sulphate can be produced
by reacting gypsum with

(a) Ammonia

(b) Ammonium carbonate
(c¢) Nitric acid

(d) None of these

Nitrogenous fertilizers is required

(@) During the early stage of
growth to promote development
to stem and leaves.

(b) For accelerating fruit formation
in later stage of growth.

(¢) To lesser the effect of excessive
potash application.

(d) None of these

Ammonium Nitrate is a

(@) Nitrogenous fertilisers
(b) Phosphatic fertiliser
(c) Complex fertiliser

(d) Mixed fertiliser

Why flux is added during the

production of cement ?

(a) To increase the setting time.

(b) To decrease the setting time.

(©) To increase the strength of
cement

(d) None of these
P.T.O.
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15.

16.

17.

18.

19.

(a)
(®)
©
@

Ca0, Si0,, ALO,
MgO, Si0,, K,0
ALO;, MgO, Fe,0,
Ca0, MgO, K,0

fam T e 2

(@
(b)
(©
@

Ffeemm FRES
R T
Hiteaw gehe
HFREH TRRe

T Gy 4G & AGYES HeF

(a)
®)
(c)
@

H,
0,
CO,
N,

TH IaTH W 82% N, &, T IRF ¢ :

(@
(b)
©
(d)

gien
ST AT
& NH,

T W i

HEhEE I ;

(a)

(b

©

@

99 & fowm & wrfie Sor i
EReit ik

g F g F g F Wl A
HerTe B asll o € o

It AESISE ITE & INE
FAHEE

T & FIE

@
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Cement mainly contains

(@
(b)
(c)
(d)

Ca0, Si0,, ALO,
MgO, Si0,, K,0
Al, 04, MgQ, Fe,04
Ca0O, MgO, K,0

Gypsum is

(@
(b)
(©
(d

The essential

Calcium chloride
Potassium sulphate
Sodium sulphate
Calcium sulphate

ingredient of all

synthesis gas is

(a)
(b)
(©)
(d)

H,
0,
CO,
N,

A fertiliser contains 82% N,, it could

be
(@
(b)
©
@

Urea
Ammonium Nitrate
Liquid NH,

None of these

Phosphatic fertilizers

(2)

®)

©

G

Are useful during early stage of
plant growth.

Accelerate fruit formation in
later stages of growth.

Lessen the effect of excessive
nitrogen application

None of these
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20.

21.

22.

23.

24,

forer qw vk W TeEfE ' O"
e e wefima fop s €

(a) CaF, 3Cay(PO,),
(b) 3Ca; (PO,

(c) Ca(POy),

(d) Ca(H,PO,),

aidolve di< ° aifusmaw ufqwa wmn
AT eFH PH A& 2

(a) o Fiveray fafese
) = Herm wfine

(¢) 3 Hicean TegREHEE
(@ =T% Fewam fofeche

= o = o fafy o feem ® o
FREAE

(a @

(b) @R

() FHieafm

(d) IR Wi

e X U g q a e Fa
(a) 200 atm, 1000 °C

(b) 450 atm, 200 °C

(c) 450 atm, 550 °C

(d) 450 atm, 1000 °C

figt =1 pH WA 3t & 1 e s
@ i & fd vyl o sean faem g
W W 6 S O 2

(a) 4-5
b) 7-8
(¢) 9-10
(d) 12-13

&)

20.

21.

22.

23.

24.
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Triple super phosphate is chemically
represented as

(@) CaF,- 3Cay(POy),

(b) 3Ca, (PO,
(c) Ca(PO,),
(d) Ca(H,PO,),

The highest percentage component of
Portland cement is

(a) Dicalcium silicate

(b) Tricalcium Aluminate

(¢) Tetracalcium Aluminoferrite

(d) Tricalcium Silicate

In the wet process of manufacturing
cement, the functions performed in
the kiln are

(@) Drying

(b) Preheating

(¢) Calcining

(d) All of the above

Pressure and temperature in ammonia
converter is

(a) 200 atm, 1000 °C
(b) 450 atm, 200 °C
(c) 450 atm, 550 °C
(d) 450 atm, 1000 °C

The pH value of soil which is
maintained by addition of fertiliser
for optimum growth and health of the
plant

(a) 4-5

b)) 78

(c) 9-10

d) 12-13

P.T.O.
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25, P H | B W SR TG €2
(a) W@ TERE
(b) IERFEN A
(c) mifEn T
(@ g

26. 5-10-5 IH w1 AU ¥, IWH & :
(@ 5, 10, 5% FWE N,, P,O5 @
K,0
(b) Fae 5-10 wiawr franiier SaR®
HZ<h
) 5-10% e ud fugt Sdwtm &

qEh
(@ W QA HE A

27. W H uegitA & ity @
(a) WA= @ vl el €
(b) T =t viE gt € 1
() U= @ uf s Tt |
(@ T FETE

28. IMitEN T @ Il A TH
Sk =BT I & ke
(a) TLYEE |
(b) TE STELEN T & |
() TN, i s ¥ o
(d) o€ GTEET W TR GHA L |

29. AW Q B o faia SREF T & 2
(a) AREERE
(b) Ffewam smift@En EE (CAN)
(c) ImifET EEhRe
(@ THIFET

30. Gierer SatE S W 3 e SR W
EAS GRS
@@ KOo=umd
() K,SO, ®uend
() KNO, = wErd
(d) KCI®iwmd

©)

25.

26.

27.

28.

29.

30.
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Which is not a fertiliser ?
(a) Ferrous sulphate

(b) Ammonium nitrate
(c) Ammonium sulphate
(d) Urea

5-10-5 fertilizer means that they

contain

(@ 5, 10, 5% respectively of N,,
P,0; and K,0

(b) only 5 to 10% active fertiliser
constituents

() 5 to 10% of fillers and carriers
of soil conditioners

(d) none of these

Excess of alumina in cement

(a) Increases the strength

(b) Decreases the strength

() Does not affect the strength
(d) None of these

Urea is a better fertiliser than
ammonium sulphate because

(a) Itis cheaper

(b) Its not poisonous

(¢) lts N, percent is higher

(d) Itis easy to manufacture

Which of the following is not a
mixed fertiliser ?

(a) Nitro Phosphate

(b) Calcium Ammonium Nitrate

(¢) Ammonium Phosphate

(d) None of these

Potassic fertilizers is graded based on its
(a) K,O content

(b) K,SO, content
(¢) KNO, content
(d) KCI!content
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CEMENT AND FERTILISER TECHNOLOGY
PA\ RI-11

fraifta awg . fw w9 ) [arfemem 3w : 70
Time allowed : Three Hours] [Maximum Marks : 70

. () wew ey dbard & oy 4 @ feet afw & I A

Note : Question No. 1 is compulsory, answer any five questions from the remaining.

(i) TE% T & gt up ) FHAR UF T E HOT |

Solve all parts of a question consecutively together.
(iii) T% Fe B 79 9B T GRS BT |
Start each question on a fresh page.

(v) 3 R & s @i @t Reift o st srare @ A &
Only English version is valid in case of difference in both the languages.

1. F o & SwodiT
Answer the following questions :
() b s # vfonfva Hitg |
Define mixed fertilizers.
(i) = IR @ fafr= yonfeat & A fefae |
Name different processes for manufacturing cement.
(iii) d= = afonfa FfT |
Define Cement.
(v) Froe g wiehe R % AT e w3 A fefa |
Write raw materials for Triple Super Phosphate.
(v) Toifge g % yer vew fafaT |

Write main constituents of synthesis gas. (2%5)

9 P.T.O.
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2. @ SR ot B SR ) i fafe & e ferae 3 ST TEER |

Name different processes of manufacturing phosphoric acid and differentiate
between them.

(i) G Y v i it faar @ fafae |
Write in detail about quality control of cement. (6+6)

3. ol i B VeraT § Uhel YO Bk S @i oy ey |

Write the process of manufacturing single super phosphate with the help of flow
sheet. (12)

4 () R It ¥ SR 3 SR ach v st wiensat H wERy |
Discuss the major engineering problems in phosphoric acid production.
(i) b=y wwel o e T % B | fafaw |
Write in detail about NPK requirement of various crops. (6+6)

5. aitEm AR TR & fafd B ot vie 9 HerEar § e |

Write the process of manufacturing ammonium nitrate with the help of flow sheet.  (12)

6. () e T e Td St STt feraw @ feifae |
Write in detail about kiln heat balance and energy consumption.
(i) T g & aR H v 3 dife R it ol o o fetfla |
Write in detail about flux ingredients and their functions of cement. (6+6)

7 el viie o e @ fed o ve @i A #t fafa i fafae

Write any one process of manufacturing cement with the help of flow sheet. aa2)

8. T wx wfera feofordt fefia -

Write short notes on the following :

() W= S
Settling of Cement
(ii) R TS

Potassium Chloride
(i) GIT-39TH TRER® BH
Soil-Fertilizer interaction 4x3)



